Systems of Equations:Practice Test
Part A:  Multiple Choice

____
1.
The line [image: image50.png](-2.4) and (18, -36)



 intersects the quadratic function [image: image2.png]224+ Tx-3




 at one point. What are the coordinates of the point of intersection? 

	A
	[image: image3.png]



	C
	[image: image4.png]




	B
	[image: image5.png]



	D
	[image: image6.png]





[image: image1.png]



____
2.
Solve the following system: 
	A
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	D
	(0, 0)


____
3.
The line [image: image17.png]


 intersects the quadratic function [image: image18.png]


 at two points. What are the coordinates of the two points of intersection? 

	A
	[image: image19.png]


 and [image: image20.png]



	C
	(0, 0) and [image: image21.png]




	B
	(0, 0) and [image: image22.png]



	D
	(2, 2) and [image: image23.png]





____
4.
What are the coordinates of the point(s) of intersection of the line [image: image24.png]


 and the quadratic function [image: image25.png]—x2-15x+4




?

	A
	[image: image26.png]


 and [image: image27.png]



	C
	[image: image28.png]


and[image: image29.png]




	B
	[image: image30.png]


, and [image: image31.png]



	D
	[image: image32.png]


 and [image: image33.png]





[image: image46.png]y=—6x+9
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[image: image47.png]1 1
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____
5.
Solve the system [image: image34.png]1
G329




 and [image: image35.png]


. Express your answers as exact values.
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A. [image: image49.png](2.4) and(-18, 36)



                                    B.                                        C.                                           D.  

     Part B


1.
Determine the coordinates of the point(s) of intersection:   
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               2 .
A model rocket is launched from a field.  The height of the rocket, y, in feet above the ground, after t seconds is modeled by the equation 
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 .  From the 10th floor of a nearby building a boy looks out the window when he hears the rocket fired.  The boys line of sight is given by:  
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.   Determine the interpret the point(s) of intersection.

3.
Part of the path of an asteroid is approximately parabolic and is modelled by the function [image: image40.png]—fix® — 370x + 100 900




. For the period of time that it is in the same area, a space probe is moving along a straight path on the same plane as the asteroid according to the linear equation [image: image41.png]500x-83 024




. A space agency needs to determine if the asteroid will be an issue for the space probe. Will the two paths intersect? Show all your work.

              4.  Determine two whole numbers such that the first number increased by triple the second number is 24.  If the first number is squared and decreased by five times itself, the result is 13 less than the second number.
              5. Show by graphing that the system    
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     has points of intersection
               6.
Solve the system graphically.  
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                    Show clearly the :     points of intersection,       vertices and  intercepts
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